ey

10LA I Invk-w A

[EEZ H
3 + 3
200090909 0
7 + |
20000 o0
5 + 2
M AAAAAMA
| + 6
SISy O®
8 + 2
HKXAXLALLALL A
9 + |
v PP P& FF P
| + 8
PPN o & & £ £ £
3 + 6
0% %
7 + 3
P === -§-§-3
6 + 3

www.snowmath.com



https://www.snowmath.com

§ @ @ 1 OLL A BTk 4

244 H 35 o
3 + 3 = 6
20090009 0
7 + | = 8
20000 e
5 + 2 = 7]
M AAANAAMA
1 + 6 = ]
PPN O®
8 + 2 = 10
AXELALKALALAL A
9 + | = 10
v FPlPFFPFFPFF
1 + 8 = 9
& & &a &h &h &h £ £h £
3 + 6 = 9
7 + 3 = 10
atdddl -§-§-3
6 + 3 = 9

www.snowmath.com


https://www.snowmath.com

